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(Part - 1) zZzw
(General Knowledge) (¬x¥â] i)

ñÑ**Z1ZæxMiZ�ÅaZö¹V�ð¶? .1

® (B) ©gM!*� (A)

æÜ (D) l (C)

»[gZx**BÃgyz*yÆ�g�WÐ¬¾ß/ÆÍg3,?̧ .2

º[ (B) ·g (A)

CÙc*: (D) Xw (C)

Îg`Ðå3zZàgzÝÃi}6,î~Hz�Ü4ìX .3

4 4 (B) 4 2 (A)

4 8 (D) 4 6 (C)

ÅgZ].JãìX (Manipur) *7g .4

(Imphal) Zrw (B) (Shillong) d8- (A)

(Itanagar) ZN*ô (D) (Kohima) ÃK (C)

ìX (Currency) ²ZtÅ�́ .5

gc*w (B) �bg (A)

eZ° (D) + (C)

�'oc*Y@*ìX (National Science Day) yz*y~̧ò-x�b .6

J# (B) �Ûzg~ 28 (A)

m 5 (D) �y 5 (C)

H|]û»m¾öÐìX .7

;Å (B) ��' (A)

sr (D) Å!*w (C)
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ù�c*�Hì? OSCAR Award 2018 4+�Æa .8

(The Shape of the Water) �~]4ï IGFMs�~zZR, (B) (Moonlight) ñyÑV$ (A)

(Spotlight) Z3^ÑV$ (D) (Birdman) ',e} (C)

Æ'Ãy�? (Ignited Mind) ZkHèâð .9

Z}X8XZX�Zæx (B) ñÑ**Z1ZæxMiZ� (A)

'ÓÇ0+S (D) ø-VL (C)

ì? FORTRAN .10

(First Generation Language) �Û�&¾cÉ45½ð GE
Y

ó (A)

(Second Generation Language) ]g¾cÉ45½ð GE
Y

ó (B)

(Third Generation Language) êe¾cÉ45½ð GE
Y

ó (C)

(Fourth Generation Language) ¯gB¾cÉ45½ð GE
Y

ó (D)

(General Urdu) (¬xZg�z ii)

ñÑ**MiZ�ÆèoÆù»́H**xìX .11

½g{§ (B) èoZg�z (A)

Zg�zñv (D) è¹MiZ� (C)

Zy´áVÃHë��w̄V~w�'aZ�D�X .12

¸Z° (B) Z²Z[ (A)

Zy~ÐÃð7 (D) DV (C)

ÝÅn7ìX .13

÷ (B) ZÌ (A)

ws (D) Â (C)

z{ÂXÆpZq-��VZyÃHë�X .14

ñ/$ (B) �� (A)

¦ (D) áZ�s (C)
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hZyÆpH�? .15

¶ (B) ic*�C (A)

Zy~ÐÃð7 (D) ',Z',~ (C)

g!*¦¾i!*y»ÂìX .16

ÃgÏ (B) ²! (A)

y~ (D) Zg�z (C)

Â[Å¦ìX .17

¯[ (B) ZÂ[ (A)

Ã (D) kA$ (C)

TÄ~�á²ZCkZEw�@*ìz{B@*ìX .18

i (B) \ (A)

�B (D) g�p (C)

âZ[Å@*-MìX .19

H) (B) âZ/ (A)

{Ây (D) H (C)

»y6,�V:g-óZkõzg{»HpìX .20

»y»y%Z[�Y** (B) ÃðZW,:�** (A)

»y~�g��Y** (D) »y~in�Y** (C)

(General English) ¬xZôm,~ (iii)

21. Choose the rightly spell word.

(A) Vacuum (B) Vacume

(C) Vacumma (D) Vaccume
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22. Singular form of 'Mice' is.

(A) Miss (B) Mouse

(C) Moss (D) Mic

23. The correct meaning of the expression "Every cloud has a silver lining" is.

(A) Be optimistic (B) Be a hero of one's family

(C) Be on death bed (D) Be worried.

24. Synonyms of 'Antagonistic'.

(A) Friendly (B) Agreeable

(C) Agreement (D) Hostile

25. Choose the collective noun for ' I saw a ''''  of fish swiming in the river.

(A) Group (B) Flock

(C) School (D) Herd

26. Choose the correct preposition in, 'I always go to school ''''  food.

(A) By (B) With

(C) On (D) Through

27. Kolkata is situated ''''  the bank of river Hoogly.

(A) On (B) By

(C) In (D) At

28. Antonyms of 'Reveal' is.

(A) Show (B) Hide

(C) Stop (D) Retire

29. Choose the correct sentences.

(A) He is selling vegetables last Monday (B) He sells vegetables for livelihood

(C) They are man of high prestige (D) Time and tide wait for none.

30. Choose the correct passive form of 'Punish him'.

(A) He was punished (B) He is punished

(C) Let him be punished (D) He will be punished
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(Teaching Aptitude) D+g+gDy (iv)

½»ÑH�**ecX . 31

5i#ÖqÝ�** (B) ZJy~»x!qÝ�** (A)

ii0+ÏÆaCÃ»g�** (D) &¾** (C)

y»�&ÐZë»x�@*ìX .32

C»ìw�** (B) D+g+�!*]�ÛZë�** (A)

CÃ{ñl�** (D) ZJy¢8 (C)

�VÅD+göÆayÃ¾§b»âjwaZ�**ecX .33

pÎZg (B) '×ZO (A)

J (D) 0*È (C)

$ÅD+gö»M¸iù�**ecX .34

¤(̈DÆ��¥â]Ð�h� (B) ¤(̈D�7Y}ìZkÐ (A)

¹ã�� (D) ÃðÌ§iZ(g�Mh� (C)

Zjw~KãwZ��YäÆ0M\»ìwìX .35

çÙwZ�~YãecX (B) LÌKãwZ7�~Yãec (A)

%wZÆÃð̂7$̂Ë (D) Ãð�zu~ßg]:�ä6,�wZ�~Yãec (C)

Zq-yÆa�&ÐZëì? .36

*y (B) ¤(̈D (A)

�` (D) âjw (C)

Zq-yÃy~z�çzyZâ»ZEwYV�**ecX .37

�VÃ�·y%Ãi�äÆa (B) $Ã�N¯äÆa (A)

Zy~ÐX (D) $ÃñW,¯äÆa (C)

Z¤/M\ÃZq-�9Z{Å�zâ�~QìÂM\¾Ãª»Ð? .38

°u (B) 7: (A)

¯` (D) D+gö (C)
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M\Æ¯kÆ�zCM:~±ä��XZq-y�äÆ**ðM\H�,ÐX .39

�zâVÃ��±äÅzz7âÐZzg�NÐ (B) �zâVCÃZjwÐïw�,Ð (A)

Zy�zâVÃçÙwZ�,Ð (D) �zâVCÅDe$ZyÆzZ­+Ð�,Ð (C)

M\Æ�gz~Ãð¤(̈D¬xîgÐ)q¢gLìÂM\H�,ÐX .40

ZkÅDe$ZkÆzZ­+Ð�,Ð (B) ZkÐ)q¢�äÅzzY3Ð (A)

M\Zk§s�·y�7�,Ð (D) 6,±ÐÈ�ZkÆÜs»ggzZð�,Ð (C)

(Mental Ability) f6&¢A (v)

Ãù�YñÇX Scientist Å§bÃeYñÂZkÃe~ Remrofni Ã Informer Z¤/ .41

TSTIENICS (B)  TSITNIECS (A)

TSITNEICS (D) TSITNSCIE (C)

{à(Ã½, d _ badc _ a _ cbadcb _ dcb _ .42

badca (B) cbdaa (A)

adbca (D) aabcd (C)

�wìÂ�}Å/H�ÏX 51 �wìZzg¬�zÅ/ 39 ÁßÍVÅZz�/ .43

40 (B) 20 (A)

45 (D) 25 (C)

Z£ähÐZq-{ÂyÆ§sZ�ág{�D�ñ¹�LLZyÅâVvg~âVÅZ³C±ÅìóóÂh»Zk{ÂyÐHģì? .44

ââ (B) **** (A)

¸ð (D) zZ­ (C)

qgzfs~Ãy�Zì? .45

# (B) Z6,s (A)

m (D) �y (C)
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8, 27, 64, 125, ........? .46

343 (B) 216 (A)

729 (D) 512 (C)

I0+~:`::Íè0+~:'''? .47

M¤/{ (B) ¯gk (A)

»zg (D) ÉÀ�3íE (C)

ÃH�YñÇ? MADRAS �YñÂ 81 Ã CALCUTTA Ë{mÃe~ .48

64 (B) 56 (A)

72 (D) 68 (C)

ÂLÆ�Ûz|#Æ',Z',�ÂH�ÃZ+{�Ç? 4 ÂLÆy%h+Å7 6 Z¤/ .49

20% (B) 50% (A)

33 1/3 (D) 66 2/3 (C)

(121 @ ?) x 11 = 121 .50

9 (B) 7 (A)

13 (D) 11 (C)
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(Part -2 ) z�zx
Mathematics gc*è

¥xÙX (Mean) �b�!��5éG]»Zz� :51

52, 28, 54, 86, 20

54    (B 52  (A

86   (D 48  (C

''''' = 50 @ 0 :52

50   (B Zero (A

1   (D (Not defined) **¥x   (C

�g`Å�A$°�~!*glÅZz�»lZgH�Ç? 0.896 [RV~!*gl 7 :53

0.128   (B 0.120 (A

0.148   (D 0.123  (C

»�gz¥xÙX ax2 + bx + c = 0 ZrZð)zZ] :54

Zero  (B 1 (A

  2  (D   4  (C

9�Z[»ZN[ÙX :55

x + x + x + ............. + x (m times)

mx  (B xm (A

mx (D m+x  (C

Å̂~ªCÙÙX Ã 0.5 :56

(B    (A

(D (C
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''')°�(�ìX :57

**ê°� (B )**ê°� (A

z�s#7ÅY$Ë (D 9°� (C

''''' = 20 (30 x 50) :58

3 (B 2 (A

1 (D zero (C

'''' :59

(B   (A

 (D (C

ÅåR»gK''''ìX (Cuboid) kú :60

6l2 (B 2h(l+b) (A

2(lb+bh+hl) (D 2(l+b+h)  (C

''''''     = 1012 :61

10201  (B 12001 (A

  100201   (D 10001 (C

Âæ¢a~''''ÐZ~.H�HìX :62

Latin  (B  Greek (A

Sanskrit   (D English (C

è? 'The Elements' ÂÁ 13 ¾gc*è�ZVä :63

¢45é
E
G

I¨g_ (B Z½k (A

�·** 1    (D Z¿hg (C

10

B.Ed (Mathematics)/E. T/May 2018



ì¾g,~ñ���@*ìX x < 0 ; y < 0 �V (-x, -y) :64

Q3  (B Q1 (A

  Q4   (D  Q2  (C

"gÅ)zZ]''''ìX -x :65

y = 1  (B x = 2   (A

x = - 2   (D y = 0   (C

ìA$!*¹iZzb''''�X A = 500
Zq-áZi~ZÑHqìZzg ABCD :66

   1000, 500, 1000 (B 1300, 500, 1300 (A

  1600, 500, 1000 (D 1200, 500, 700   (C

''''' = %zoÆw»�� :67

 (B (A

   (D  (C

''''�ÇX (r) %,T¢aìA$Zk»Û¢ 154 Z¤/�{ÅR»gK :68

2 cm (B 2.5 cm (A

  3.5 cm (D 3 cm (C

�Ç? cm........AB ìA$ AP = 6cm Z¤/ �Z],}»%�/ìZzg 'O' �~�̂~ :69

9 cm (B    3 cm   (A

   18 cm (D   12 cm  (C

Ã 4 Ð�ÙXZ[Zk~ 3 Ã¦ÙXZ[M\Zk~ZCZÝ°�¦�,ZkÃ 9 Zq-°�ÃÉÙZkÃ�zkHÙZzgZk~ :70

¦�,ZzgZkÐZÝ°�ÃïBZzgZ[³�Ç''''

6 (B 7 (A

9  (D 5   (C
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ÒyìX / qgzfs~ÐÃy�gc*è»] :71

x + 7 = 18 (B ZkÅM@�� (A

Hz�Ü�ZìX  (D M`ZÂZg7ì (C

Zy~Ðxyz*ãgc*è�ZV''''�X :72

¢45é
E
G

I¨g_ (B Z½k (A

Í®à   (D u~âZkgZâ� (C

'''' = AUB �b�z+̂Ðó :73

{5,6,7,8} (B {5,6} (A

  {7,8}  (D    (C

Å7¥xÙX :74

8 (B (A

 16  (D 2 (C

''''' = loga1 :75

a  (B 1 (A

  2   (D zero  (C

'''''' = log10 0.01 :76

   2   (B -2 (A

-1  (D     1    (C

ÅZ(gtÂW''''''ìX :77

1.9285714 (B 1.9285714 (A

  0.19285714 (D 1.9285714  (C

12

B.Ed (Mathematics)/E. T/May 2018



''''ìX (Multiplicative Inverse) »¢!wk :78

(B (A

   (D   (C

''''' = A-(A-B) :79

  AUB (B      (A

B  (D      (C

Mg0)zZ]»�gz''''ìX 5x7 - 6x5 + 7x = 6 :80

 5 (B 4  (A

7 (D     6 (C

Å7H�ÏX x �Â px + q =0 :81

(B   (A

    (D  (C

`''''Ð¦/g@*ìX x = 5y â :82

 (0,9)   (B (0,0) (A

(1,1)  (D   (2,3)  (C

''''' :83

a (B (A

(D a3 (C

Z°Z�Æù´Æ��''''ìX 'n'~ Arithmetic Progression ��Ô :84

(B (A

 an = a + (n-1) d  (D (C
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»y~Zz�''''�@*ìX  b Zzg a :85

     (B (A

Zy~ÐÃð7  (D   (C

"gÅ)zZ]''''�Cì? X :86

x = 7 (B x = 0 (A

y = 0  (D y = 7 (C

'''�ÇX (x-intercept) qbs -x » x - y + 1 = 0â :87

2   (B 1 (A

-1  (D 7  (C

Óx�Z],}''''�D�X :88

?/       (B )?/ (A

Zy~ÐÃð7    (D §z (C

[)z~ZÑHqÆCÙ{gYiZzbÅeö''''�CìX :89

1300 (B 1800 (A

1200   (D 1100 (C

ÆIÅMð''' (Square inscribed in the circle) T¢aìXZkÆ�ZÅ+B3ûG%, 100 Ë�Z],}»� :90

T¢a�ÏX
(B   (A

 (D     (C

»gK''''%,Z»ð�ÇX (Regular Hexagon) IzZá=Dk a :91

   (B   (A

Zy~ÐÃð7 (D (C
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''''Z»ð�@*ìX (Perimeter of Semi Circle) ËÛ�Z],}»Zq© :92

(B   (A

Zy~ÐÃð7 (D  (C

T¢a¢»@*g¯c*YñÂZk@*gÅMð''�ÏX 2 v¢aìXZ¤/ZÐ»� 6 (Diameter) Zq-�JC�}»¢ :93

12 cm (B 48 cm  (A

 24 cm (D   36 cm  (C

'''kZ»ð�@*ìX »w (Cylinder) Z2Zä   :94

(B (A

Zy~ÐÃð7 (D (C

T¢aìXZk»gK''%,T¢a�ÇX 60 Zq-�z~ZÑHq[»Zq© :95

170.1 (B 149.3 (A

173.2  (D 137.4 (C

ìX (Model) Å!*w''''»Zq-%: :96

Z2Z:     (B �Z],{ (A

zo % (D �{ (C

Sin 450 + Cos450 ........ :97

(B (A

 (D 1 (C

= ''' :98

1 (B tan 900  (A

  Zero (D   Sin450 (C
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 = Â'''' Z¤/ :99

(B  (A

  (D  (C

¢a�CìXÎg`ÅÃúVZzgi}Æ�gxy�WzZÑiZzt¥xÙX W 8 ¢aZz�Zq-2yÆ�ñÅMðð 15 :100

300 (B 600 (A

900 (D 450  (C

///

`
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